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Match the answer with the question.

“la. 48+8 = ‘H =17
b. 6+6 = L =1
c. 4+1 = D=4
d. 50+5 = ‘K =16
e. 20+2 = A=09
f. 105+7 = | = 14
g. 3+3 = J=10
h. 96+6 = .C = 11
i. 72+8 = -E =15
j. 40+5 = -G =8
k. 14+1 = N =10
. 153+9 = .0 =1
m. 99+9 = ‘M =6
n. 81+9 = -F =15
0. 135+9 = -B=9
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Match the answer with the question.
"la. 48+8 = M
b. 6+6 = L -
c. 4+1 = D -
d. 50+5 = N
e. 20+2 = J
f. 1056+7 = F
g. 3+3 = O
h. 96+6 = K
. 72+8 = B
j. 40+5 = G-
K. 14+1 = I
. 1563 +9 = H
m. 99+9 = C
n. 81+9 = A
o. 136=9 = E =9
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